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Practice Exam #3

Nagy,

Tibor

Keep this exam CLOSED until advised by the instructor.

50 minute long closed book exam.

Fill out the bubble sheet: last name, first initial, student number (PID). Leave the section, code, form and
signature areas empty.

Three two-sided handwritten 8.5 by 11 help sheets are allowed.

When done, hand in your test and your bubble sheet.

Thank you and good luck!

Posssibly useful constants:
o g=9.81m/s?
o G =6.67x10""! Nm?/kg?
= 1000 kg/m?® = 1 kg/l = 1 g/cm3

* pwater

o 1 atm = 101.3 kPa

e N, =6.02x1023 1/mol
e R =28.31J/(molK)

. ky = 1.38x1028 J/K

e 0°C=27315K
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nagytibo@msu

Please, sit in row C.

Are you sitting in the seat assigned?

1.AQ Yes, I am.
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Planet-X has a mass of 4.32 x 10%* kg and a radius of 5060 km. What is the Escape Speed i.e. the minimum
speed required for a satellite in order to break free permanently from the planet?

(in km/s )
2. AQ 487 BO 5.70 cO 6.66 DO 7.80
EQ 9.12 FO 1.07x 10"} GO 125 x108  HQO 1.46 x 10*
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The height of the Mercury column in the Toricelli barometer is h = 760 mm here on Earth at sea level. See figure.

m

| 3 pt | What would be the height of the Mercury column on the surface of the Moon? The Moon has no atmosphere,
and the gravitational field is six times weaker on the Moon than here on Earth.

3.AQ 0 mm.
B(Q) 127 mm, six times shorter.
C(O) 760 mm, same as on Earth.
D) 4560 mm, six times higher.

What would be the height of the Mercury column inside a Moon-base where an Earth-like air atmosphere is

maintained for comfortable living? (The Toricelli barometer has sufficient amount of Mercury, and the glass tube can
be extended, if necessary.)

4. AC. 0. mm.
B(Q) 4560 mm, six times higher.
C(O 127 mm, six times shorter.
D) 760 mm, same as on Earth.

Since. +the Moown doesvﬂ-. howve. M und
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An object weighs 87.9 N in air. When it is suspended from a force scale and completely immersed in water the
scale reads 18.4 N. Determine the density of the object.
(in kg/m"3)
5. A0 648x 102 B 8.09x10> CO 1.01x10*° (DO 1.26 x 10°
EQO 1.58x10°  FQO 1.98x10° GO 247 x10*°  HQO 3.09 x 10®
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The figure illustrates the flow of an ideal fluid through a pipe of circular cross section, with diameters of 1 cm
and 2 cm and with different elevations. p, is the pressure in the pipe, and v, is the speed of the fluid at locations x =
q, r,s, t,oru
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What is the sound level of a sound with an intensity of I = 1.00 x 10=¢ W/m?2? Give your answer in dB units.

10. AQ) 37.46 B 43.83 cQO 51.28 DO 60.00
EQ 70.20 FO 82.13 GO 96.10 HQ) 112.43

Now the intensity of this sound is increased to a value of 34.0 times of its original intensity. What is the new
increased sound level? Give your answer in dB units.

11. AQ 24.70 B() 35.82 cO 51.94 DO 75.31
EO 10921  FQO 15835 G 22961  H(Q 332.93

Tntenalby: IT=4: 6° W /na®
Sound level: 10 roa( = IOQO%( )—-

=10-log 0-107) = (o log O = 0-6=60dB
Whewn the C,vd:.eyl.sdc_j (s ncvreased ‘0‘3 a
Doctor of 240, the sound level changes

to: |0 Qo% (5%0’%) = IOro33l++ Ioﬁo%(?i"—o}-
=152l + 60 =75.2IdB
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A truck horn emits a sound with a frequency of 200 Hz. The truck is moving on a straight road with a constant
speed. If a person standing on the side of the road hears the horn at a frequency of 225 Hz, then what is the speed of
the truck? Use 340 m/s for the speed of the sound.
(in m/s)
120 AQ 3.78 x 10" | B 4.27x 100 CO 4.82x 10" D 5.45 x 10*
EQ 6.16 x 10 FQO 6.96 x 108 GO 7.87 x 10+  HQ 8.89 x 10*
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An organ pipe is 1.70 m long and it is open at one end and closed at the other end. What are the frequencies
of the lowest three harmonics produced by this pipe? The speed of sound is 340 m/s. Only one answer is correct.
13.A0) 200 Hz, 300 Hz, 400 Hz — I

B(Q 50 Hz, 100 Hz, 150 Hz C‘ - %LPO M S

C(O 100 Hz, 300 Hz, 500 Hz

DO 50 Hz, 100 Hz, 200 Hz -—

EQ 100 Hz, 200 Hz, 300 Hz C. - 2—'@

FO 200 Hz, 600 Hz, 1000 Hz

GO 50 Hz, 150 Hz, 250 Hz
HO) 200 Hz, 400 Hz, 600 Hz
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The height of the Eiffel tower is 321 m during the Summer when the temperature is 25.3 °C. What is the
magnitude of the change in the height of the tower, when the temperature cools down to -12.0 °C during the Winter?
The coefficient of linear expansion of the tower’s material is 1.18 x 1075 1/C°.
(in cm)
14. AQO 1.06 x 10" (BQO 141 x 10"} CO 1.88x 108 DO 2.50 x 10*
EQ 332x 100  FQO 442x10" GO 58 x100 HQO 7.82x 10!

Heok expomsion [ contvoction
AL= o U, OT =

118107 22(- (25.3-(-12.0)) =
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What is the pressure of 1.07 moles of Nitrogen gas in a 4.71 liter container, if the temperature of the gas is 40.2
°C?
(in atm)
15. AQ 1.32 B 1.92 cO 2.78 DO 4.03
EQ 5.84 FO 847 GO 1228 HQO 17.80

Tdeal qos law

eV =wRT

— WRT
P=5

R=3\ mj(;\. < Rec}vnow»H: cownstont

T=L4Lo2T = 332K .

V=4(LTl1 =000 »v

w = 1.07 wiol

oo LOT- 831332 _ = a0 P &
.00k 1 &~ 5.8% okt

( Latm = (01,300 Po.)
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A 24.51 gas bottle contains 9.87 x 1023 Radon molecules at a temperature of 312 K. What is the thermal energy
of the gas? (You might need to know Boltzmann’s constant: kp = 1.38 x 10723 J/K.)

(in J)
16.( AQ 6.38 x 10° 1 B 925x10° CO 1.34x10* DO 1.94 x 10*
EQO 282x10* FQO 4.09x10* GO 5.93x10* HQO 8.59 x 10*

Ey, = % Nkg T
R : Rodon : noble qas: etiqle otom
molecules : =3 : thvee Lromelodions

OV\\\.h.
2 - P
E‘H’L= = qQ.87:'10 - L3310 + 2A2

By = 6ZThT

The volume of dhe gqog woes not
needed!
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The diameter of the Hydrogen atom is almost exactly one angstrom which is 1019 meter. How many Hydrogen
atoms do we need to place next to each-other side by side to form a one millimeter long chain?

17.A(O) one hundred
B(Q) one thousand
C(O) one million
D() ten million
EQ hundred million
F(O one billion
G one trillion
HQO 6x1023

Printed from LON-CAPAGMSU Licensed under GNU General Public License
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